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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) el TR 397 We-9 W AHiE e fad |
Candidates must first write their Roll Nos. on the question paper compulsorily.
(2) | I T A S

All__fhe questions are compulsory.

(3) -Wmﬁmﬁﬁaﬁ?—fﬁiﬂﬁﬁﬁé 1

" Write the answer to each question in the given answer-book only.

(4) R vl & srien @ve €, 37 el % Io0 v e 6 e |

For questions having more than one part, the answers to those parts are to be written

together in continuity.
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(5) TATE1H6 W@hﬂamﬁjﬁmmwmﬂfmmﬁﬁé !

Write the answers of Question Nos. 1 to 6 (multiple'choice) by making a table in your
answer-book.

(6) T e @ oo Wi Fo weme ) s/ e/ R Y e et e 3 e
WA |

If there is any error / difference / contradiction in Hindi and English versions of the
question paper, the question of Hindi version should be treated valid.

. T8 =t Soter ool v Qe 3 S s S s A &

AT) T @) foard
(W) e @ W
What is the name of the process of loosening and turning of soil ?
(a) Sowing (b) Irrigation
(c) Ploughing (d) Harvesting

2. TR 9 Wi veg SeHveet SRR 87 9 e weha & 0

() F (@) ot

() I el fireredt @)

Which of the following species is an endemic species. of Pachmarhi Biosphere Reserve ?
(a) Dog (b) Cat

(c) Flying squirrel | (d Rat

3. Paddfmmeaewe -

«(ﬁ i w1 ™ (@) i e
@) U= @ g
Which of the following is conductor of electricity ?
(a) Lemon Juice (b) Vegetable oil
(c) Petrol (d) Distilled water ' , 1
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~ Which is the smallest planet of solar family ?

(a) Mercury (b) Mars

(c) Saturn ' (d) Jupiter 1

5. ﬁ?ﬂwmaﬁ?mﬂmﬁﬁwaﬂ#%fﬂﬁwmm%?

A3T) I S (@ e T

(W) g™ (R) ST Hee f

Which part of the Sitar is vibrated to produce sound ?

(a) Stretched string (b) Stretched membrane

(c) Air column (d) Water surface 1
6. RRE S SO S H o 191 ST AR | 2

() @ ' AT TRAA

(¥) difereeex (3) ufnicte

Which fibre is used to make parachute and socks ? ;

(a) Rayon (b) Nylon

(c) Polyester | (d) Acrylic 1
7 e P e 2 oTiar o el S @i fafy e fefee |

What is reproduction ? Write the name of the method of asexual reproduction in Amoeba.

1+1=2

3wy — A 3 it % fiver e - B o fig v 3w A Sic

- A wor-B
(i) e €A) FTrgior feeror
(i) wEErEeE (B) 7 &I HR&H
(i) T Y6 T8I B ST
(iv) T Faemey - (D) sz afEm
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Match the organism in Column — A with its action in Column - B : “ix4=2
Column — A Column - B

(i) Yeast (A) Fixing Nitrogen

(ii) Lactobacillus ~(B) Cause of dengue

(iii) Rhizobium (C) Setting of curd

(iv) A virus (D) Baking of bread

A v s 0 Tuer SUAT e TR & adat & i fear sman &2

What is Teflon ? Why is it used in cookwares ? 1+1=2

/I{ e[ ATE i Ao o 7w 3 ea ST |

Give your suggestions for preventing soil erosion. 2

A A a9 W e UIssy w4 e € 7

Why do you sprinkle fine powder on the carrom board ? 2

A3, fem-gien & w9a TR A w1 Qe @ e ?

What precautions should be taken inside the home during Thunderstorm ? 2

x5, e o O girg ey 3 4 o AT ST SR § 7

How can polluted water be converted into potable water ? 2

- e s onen ot i T e & 7 g A R Rt |

Why is organic manure considered better than fertilizers ? Write three reasons.
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Write three measures to avoid the spread of Malaria. I1+1+1=3

6 “wiies wateR ¥ o e & 7 T T 3 g % 7 Jurd fAfan |

Plastic is harmful for the environment.” Write three measures for solution of this problem.

1+1+1=3

R

ﬂ/mhqu@wa%ﬁmmaﬁmwﬁm%?ﬁmﬁr@ﬁﬁmﬁﬂ?wwml
(1) =
2) wwEH
(3) g
(4) sEEeE
(5) wifeaw
(6) i
(7) =

The main part of cycle and carrier is made of which metal ? Choose and write the names of
metal from the following : 1+2=3
_ =3

(1) Gold

(2) Carbon
(3) Nitrogen
(4) Oxygen
(5) Sodium
(6) Copper
(7) Silver

K e qReHOT AT &) He! 3 T 3 3w R |

Write the names and uses of two constituents obtained in petroleum refining. 1% +1%=3
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. Write the names of two substances that produce flame. Draw a labelled diagram of flame of
candle. . , 2+1=3

—

20. (i) T T T RO ?
(ii) Wﬁmﬂmwﬂa&m%iﬁaﬁﬁﬁw#ﬁ,ml
(i) What is the reason of friction ?

(ii) A teacher can write on blackboard by a chalk but not by a wooden stick. Explain.
1+2=3

¢4. “RAeRereT # I S gHEA H WTe g a7 T O o R e |

“Driving during adolescence can increase the possibility of accidents.” Give your views in
its favour. 3

22. T S R 39 T e 8 2 S ITRT ST |

What do you understand.by external fertilisation ? Give two examples. . 2+41=3

\}3./(}) g Wi Tl Fe € 9
(i) ¥ =erE Ve Bt &, STafs Tl ) wh gae Bt & | wwEnET |
(i) What is Audible Sound ?

(if) The roar of lion is loud whereas the sound of birds is feeble. Explain. 1+2=3

“3a, et & #eet @ ol Y R 0 P g o g Qe v e & 9 ot g et <t

e et IR T i o ST |

Which metal is used for electroplating bicycle handlebars and wheel rims ? Draw a labelled *

diagram of simple circuit showing electroplating of copper. . 1+2=13
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Why do earthquakes occur ? Make a plan for protection against eathquakes. 1+2=3

~ How does pole-star help in the knowledge of direction during nighi? " & 3

et

T e 3 e e A 1 ¥ s 0 o e o e e e
1 |

List any three efforts made by you for controlling the water pollution ofrjver and ponds.

1+1+1= 3\
(i) < iferewr s A fom s |
(ii) IR & S v J AR 3 fefaw |
: : —
(i) difenr ¥Rt 1 Amifed fox s Ry |
(i) it Hife iR v & 2 <t st fifaw |
() Draw a labelled diagram of animal cell.
(i) Write four differences in plant and animal cell, Yt d=G
OR
(i) Draw a labelled diagram of nerve cell.
(ii) What is a prokaryotic cell ? Give two examples. 2+4=6

mﬁ;&m‘gﬁ%q o1 & &fe st o 3 Suan fefiag |wﬁwamaﬁ%mwm
T |

HYar
T oy et 2 i 3 e et 4 < 9 R | e o e e T e 2

What is force ? Write two uses of force in our daily life. Gwe one example each of contact

and non-contact forces. : 1+2+3= [
: OR

What is pressure ? Write two uses of pressure in our daily hfc Why is the end of nail made
pointed ? v 1+2+3=6
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30. (i) Py o ey e o T o e
(i) = o et |
areral
(1) e o & ST I T IS i et e Ry fi e |
(ii) Iwmﬁmﬁﬂiﬁq%ﬁmﬁﬁmmi

(i)/ Draw aray diagram of regular and diffused reflection.
(i‘ Write differences between these two,

3+3=6
OR
(i)' Draw a ray diagram showing incident and reflected angle in a plane mirror.
(i) Write characteristics of images formed in a plan‘é mirror. 3+3=6
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